
Recognising Coins

Jack has five coins in his wallet. Three of the coins are silver and two are bronze. 

What combinations of the coins below could Jack have in his wallet? You can use 

each coin more than once. Find four possible answers.
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Recognising Coins

Jack has five coins in his wallet. Three of the coins are silver and two are bronze. 

What combinations of the coins below could Jack have in his wallet? You can use 

each coin more than once. Find four possible answers.

Various answers, for example:
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50p + 20p + 2p + 5p + 1p

1p + 1p + 20p + 20p + 20p

1p + 50p + 2p + 10p + 50p

20p + 10p + 2p + 5p + 2p


